
Funkcja pot¦gowa wykªadnicza i logarytmiczna � Klasa 3

1. Rozwi¡» równania:

(a) 2x = 128

(b) 35x−8 = 9x−3

(c) 7x−4 = (
√
7)2−3x

(d) 25x
2

= 1254x−6

(e) 3x+2 − 3x = 72

(f) 2x+3 − 2x = 112

(g) 7 · 5x − 5x+2 + 450 = 0

(h) 2 · 16x − 24x − 42x−2 = 15

(i) 75x − 75x−1 = 6

(j) 35x−4 + 35x = 82

(k) 4x+1 + 4x = 320

(l) 5x + 3 · 5x−2 = 140

2. Oblicz:

(a) log2128

(b) log81

(c) 16log5125
√
5

(d) log√24

(e) logπ1

3. Oblicz:

(a) 2log264

(b) 3log35

(c) 102+log7

(d) 49log72

(e) 81−log23

4. Rozwi¡» równania (po uprzednim okre±leniu dziedziny):

(a) log2x = log2(3− x)

(b) log2(x− 1) = 3

(c) log3(x
2 + 5) = 2

(d) log2(log4x) = 1

(e) log4(x+ 3)− log4(x− 1) = 2

(f) 3logx = 1
27
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